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Factor s Affecting the Difficulty of Short Dialogue Listening Items of
Test Of Proficiency-Huayu (TOP-Huayu)

Introduction

Test of Proficiency-Huayu (TOP) is developed by $iteering Committee for the
Test of Proficiency-Huayu (SC-TOP) and has admenest worldwide since 2003. Up
to now, SC-TOP has received many suggestions otestheontent. One of the
suggestions is about the item difficulty, whichndt effectively controlled, might
reduce the power in discriminating less proficiest takers from more proficient test
takers. That is, a test with too many easy ordiffitems may cause ceiling effect
and floor effect, respectively, which will weakdretdiscrimination power. In fact, an
ideal language test should contain a balanced nuafltest items with various levels
of difficulties so that the discrimination powemche maximized. From this point of
view, it is of great importance to control the it@ifficulty in a test. Moreover, in the
item-writing guideline developed by SC-TOP, thaissf adjusting the item difficulty
is less touched upon when being compared to ofheersions, such as topic
selection, task type design, determination of tdito be measured and so forth.
Therefore, the purpose of the present study iswtbdut the potential factors that may
affect the item difficulty, and further to providem writers some useful principles in
controlling the difficulty of an item.

This study, following the format adopted in a TOEEkearch report (Kostin,
2004), attempts to identify linguistic factors rettest itself, as well as test takers’
task-processing factors, which may affect thettesitem difficulty in the short
dialogue listening section of TOP-Huayu for Advashtevel. A correlation analysis
and a regression analysis will be conducted topnét the data.

Method

Materials

A total of thirty-five short-dialogue items from twersions of TOP pre-tests for
Advanced Level were employed as the materialsi;study. The two versions of
tests were treated with tikemmon-item nonequivalent groups destbas, their
compatibility of difficulty can be ensured. Eaclnt contains a short dialogue
involving one turn-taking of speaking, accomparbgdc question about the content
of the dialogue. Four options—one key and threrabters—were provided for the
test takers to choose from.

Independent Variables
A total of 17 independent variables were seletrteeh a TOEFL monograph
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(Kostin, 2004) and modified (if necessary) to betédlect the characteristics of
Mandarin Chinese. The 17 variables can be roughidet into three categories,

which are word-level variables, sentence-levelaldgs and task-processing variables.
Each variable, along with its coding instructioissgxplained and exemplified in the
following.

Word-level Variables

VO01: The necessity of comprehending four-character idiomsin correctly responding
to the test items.
In English, an idiom is defined as “an expressionststing of two or more
words having a meaning that cannot be deduced tlhermeanings of its constituent
parts” (The American Heritage Dictionarg000, p. xxxvi). In Chinese, an idiom
refers to a fixed colloquial expression (usuallyhna verb-object construction) which
is characterized by humor, wittiness, and funninkgs often meant to reflect certain
social phenomena and behaviors (Shao, 2006). Fonghe, ‘% & & " is used to
describe the behavior of working very late into tinght. Like English idioms, the
meaning of a Chinese idiom cannot be derived frigriteral meaning; rather, it is
historical, allegorical or metaphorical in natusence the meaning of a Chinese idiom
is not the combination of the meanings of its ctusht parts, it is predicted that the
use of an idiom may make a test item more difficult
The example of VO1 is given below:
9IRS ARG AT B ERE L LR .
LA ERE A RRE S Vs Ao B
§ IFRFES A Ao ?
Coding instructions for VQZCode “1” for the test item if the comprehensidn o
the colloquial idiom is necessary for correctlyp@sding to the item; otherwise, Code
“0”.

Sentence-level Variables
V02: Two or more negatives in utterances of first speaker.

The influence of negatives in listening comprehemsias been noticed in a few
studies (e.g., Kostin, 2004; Nissan, DeVincenzd &ang, 1996). These studies found
a positive correlation between the presence ofthaggaand the item difficulty; i.e.,
an item with two or more negatives is often mofé&ailt than that with fewer
negatives. In the present study, we adopted a stongent negative-coding
stipulation than Nissan (1996) did in her studyNissan’s (1996) study, negatives,
be they negative or positive (e.g., tag questiong)eaning, were all counted. In the
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present study, only the negatives (e.g., X, %], #-, #&, etc.) whose function are
denial were counted because this can ensure thatfthence on the item difficulty,
if any, is made by its ‘pure negativeness’. A nagaivith a negative form but
without the denial function, such as the negativa rhetorical question (e.g#fg
EAl J"f\’ 7 3558 ?7) or A-not-A question (e.g.,{’?”), may render the results more
difficult to interpret in that it is not easy totdemine whether the linguistic context
where the negative occurs or the neggbeesecauses the item difficulty. In the
current study, neither the negative marker in #oreal question nor the negative
marker in an A-not-A question was counted becatiseked the “denial” function
even if it manifested itself as a negative markeiorm. For example,;2” as in “42
AR f 47 was coded as a negative, whereas'‘as in “#* —5— fI* 3 R A
T2 and " asin I H 6 % §[A]§ s £ 367 @6 w0 were not
counted. The example of Variable 02 is given below:

g IpFRAEL FeavRp AR R A 2 2 d 504 g

=92

R G A - A S

=+ N - 7 -
_E'_jI‘Jt,Z Bmard o

b

£I4R

AN

AR AN H WA R gL
¥ oliEpo g LR H A9
Coding instructions for VQZCode “1” for the test item with two or more
negatives in the utterances of the first speakbéerwise, Code “0”.

V03: Two or more negatives in utterances of second speaker.
The example of VO3 is given below:
FUARER G B AEEEIVE S ER R P Ok ]
Ll KBRS R 5 0 45 (]2 i 2 e |
il EE L TR EAKR?
Coding instructions for VQ3ode “1” for the test item with two or more
negatives in the utterances of the second speatkerwise, Code “0”.

V04: Two or More Negativesin Total Dialogue.
The example of V04 is given below:
FUARER G B AEEEIVE S ER R P Ok ]
Ll KBRS TR 5 0 451 (]2 i 2 e |
§ il EE L TR EAKR?
Coding instructions for VQ3Code “1” for the test item with two or more
negatives in the utterances of the second speatkerwise, Code “0”.

V05: Use of complex sentencesin utterances of first speaker.
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A complex sentence is composed of an independauseland a dependent
clause. There is a certain semantic relation, sgaiving reasons (e.g%] = ...#
r2...), making inferences (e.gF X ...7R & ...), expressing supposition (e.giy
5 fik) stating conditions (e.g.*,% #t... % Bl...), offering concessions (e.gi
k... e _...), clarifying time (e.g.,— ffu) and so forth. The two clauses are
usually combined with each other by device of coafions; however, it is not
uncommon to see a complex sentence without anyiootipns. For example p# /&

7 5% 7 e g v ” js a complex sentence involving a casual relaéeen though it
lacks an explicit connector. Given that a complemtence has a more complicated
syntactic structure and contains more ideas trample sentence
(http://users.chariot.net.au/~michaelc/complex.him3 theoretically more difficult
to comprehend a complex sentence, and its preseagéncrease the difficulty of a
test item. In the present study, we coded forelseéitem with at least one complex
sentence. The example of VOS5 is given below:

7 AU 22 R PR ARG ?

SR I R N

¥ oliEpo g LR H A9

Coding instructions for VQ3ode “1” for the test item containing at leaséon
complex sentence in the utterance of the firstlspreatherwise, Code “0".

V06: Use of complex sentencesin utterances of second speaker.
The example of V05 is given below:
FIw RS ITEEA EL Y
Lo dmeha R I [T AHeR B SRR E o
EF 2 % 4% o
Coding instructions for VQ8Code “1” for the test item containing at leaséon
complex sentence in the utterance of the secorakepeotherwise, Code “0".

VO7: Use of complex sentencesin total dialogue.
Coding instructions for VQ7Tode “1” for the test item containing at leaséon
complex sentence in the total dialogue; otherwxeje “0”.

V08: Number of within-clausereferentialsin total dialogue.

Research has shown that a text will be easierat ifehe referential is replaced
with its referent or noun phrase because readem®tlbave to figure out what the
referential refers to (Abrahamsen and Shelton, 198%ddition, Kostin (2004)
found that the number of within-clause referentvads positively correlated with the
item difficulty in the short dialogue comprehensitmother words, the more
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referentials a test item contains, the more diffite item is. In the present study,
three types of referentials were coded: within-stateferentials, between-clause
referentials and inter-speaker referentials. Castshould be taken that the
referentials coded in the present study were natdd to “personal pronouns”; rather,
they could extend to “demonstrative pronouns” (eig, 7%, i&i#, 7tif, etc.) as
well. The example of V08 is given below:

724 ,4 B B Rk L2

L DA AR oo 0 - —»L%*’m Vc)]*%‘ e

Coding instructions for VQ8ode the number of within-clause referentialthim

total dialogue.

V09: Number of between-clause referentialsin total dialogue.
The example of V09 is given below:
F AR AG LR A R R LACLER s R ETE R ALET
TABREWE T - HF o
*:Wi§7!Wﬁ‘~<?%ﬁﬁ@’ﬂ%ﬁﬁi’ﬁ#@ﬁwmo
Coding instructions for VO9Code the number of between-clause referentials in
the total dialogue.

V10: Number of inter-speaker referentialsin total dialogue.
The example of V09 is given below:
ﬁi 7r/‘m+’4/k’j“-§lb‘zcé£"ﬁ{4ﬁ%ﬁr'°
A A Rt T Pﬁﬁ..) W EFET 80
Coding instructions for VIGCode the number of inter-speaker referentiathén
total dialogue.

V11: Use of rhetorical questionsin utterances of second speaker.

A rhetorical question is “a question to which mswaer is expected” (Crystal,
1992). Rhetorical questions often cause much diffidor students learning Chinese
as a foreign language (CFL) (Dong, 2000; Zhao, 2086cording to Zhao (2000),
there are four main sources of such difficulty.Begin with, though appearing as a
guestion form, a rhetorical question does not yaaltjuire a definite answer. Second,
the meaning of a rhetorical question is hard tegue to its high dependency on
contexts. Third, most CFL learners are not famikéh the function of a rhetorical
guestion, nor are they familiar with the time arayvof using it. Fourth, the definition
for a rhetorical question used in the current tegkbis not complete, nor is it clear
enough for CFL learners to master. Since learnirtggtorical question is not an easy
task for CFL learners, the presence of a rhetoguaktion may contribute to the item
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difficulty. The example of V11 is given below:
iRt AT R T AR EFER
*:ﬁE#FE“«.++’MﬁWK¢MJJ!
Coding instructions for V11Code “1” if the utterance of the second speaker
contains any rhetorical question; otherwise, Cdfe “

Task-processing Variables
V12: Any of the three distracters has more words that overlapped with the wordsin
the dialogue than does the key.

Several studies found that test takers sometinsestreo lexical overlap between
words in the text and words in an item’s optionfignring out the answer to that
item, especially when they do not understand @ ifuite well (LTTC, 1999).
Kostin (2004) found that an item tends to be easglen lexical overlap between the
text of the dialogue and the key is higher than bigdween the text of the dialogue
and the distracters. On the other hand, an iteim mdre lexical overlap in the
distracters is likely to be more difficult. In tipeesent study, we coded for the item
that had a larger amount of lexical overlap betwaandistracter and the dialogue
than between the key and the dialogue, an itemgiegtito be more difficult. There
were two stipulations for coding lexical overlajrsE if a word was shared by the
text, the key and the distracters, it would notbéed for lexical overlap. Second, if a
word in the key or distracter and a word in thdatjae had the same meaning, but
different word classes, the two words were not tedias lexical overlap. For
example, @ ¥ asin “# &1 v B %" and “1 " asin ‘s = % 1 ¥ = /| pF”
should not be coded for lexical overlap becausddimer is a noun, while the latter
is a verb even though they bear the same meaniogk!wI'he example of variable
12 is given below:

T BT RN AR (RS AR lz’kﬂb- g

EA R vk |

S A g RAPHE FEAER O

g s ﬁ_m,g‘)‘\,q\xif*‘ﬂ ?

(A)] &= ¥ «~ 722 (0 overlapping words) - distracter
By ## £ ¥ - =~ & (2 overlapping words) - distracter
(C)* &3z % 7 -] &#F mend ) (0 overlapping words) - key

(Dyl =1 &L 3 E% 219 4 (2 overlapping words) distracter

Coding instructions for VIZCode “1” if any of the three distracters have enor
overlapping words than does the key; otherwise eCot



E

% 2008 =X Y5 f"j ﬁg%“(ACTFL)EFrF'“ff o S PUEAEIE ] > 2008 &F 11 F| 21-23 |

V13: A word or phrasein the key has a near-synonym relation with the onein the
last clause of the total dialogue.

It has been found that repetition of words hascdifative effect on listening
comprehension for less proficient L2 listeners,levbther devices of paraphrasing,
such as synonyms, play a very meager role in lisé&ning comprehension
(Chaudron, 1995). In addition, Chiang and Dunk8B@) found that more proficient
EFL learners have an advantage over less profi€Ehtlearners in listening to a
lecture, of which information is paraphrased. Sacladvantage enjoyed by more
proficient EFL learners is attributable to theatrer vocabulary knowledge. Taken
together, a test item in which a word in the kegyisonymous with the one in the
dialogue can theoretically be used to distinguismenproficient learners from less
proficient ones. In the present study, near-syn@yather than synonyms, were
coded because true synonyms rarely exist (Sae@@).28ear-synonyms can be
defined as a group of words that are very similaheir meanings, but may have
different distributions. Consider® % ” and “& #"”. They all mean “age,” but they
differ in their collocations. For example, peopfeea say “| |- # & ”, but not *“| |
£ #7 ~ B & #7 s acceptable, but not* § £ % ”. The example of V14 is given
below:

FIEAARF o071 - A0 KRV B Egy T Hhas B ir

AT REHRTE O ARPE ;,:T;rs:& Y oo
g R EE AR D

(A) Blopg-& % ¥£7

(B) @ &4 371 177

C) 1ixg 7 €3

D) %7 » & pmd51 it

Coding instructions for V13 ode “1” if a word or phrase in the key has a

near-synonym relation with the one in the last staof the total dialogue; otherwise,
Code “0".

g

V14: Necessity of comprehending implicit statement in correctly corresponding to
the test items.

Generally speaking, an implicit statement is mofcdlt to understand than an
explicit statement in that test takers have to ggond the literal meaning of the
implicit statement, whereas the meaning of an eik@tatement is rather
straightforward. The report of GEPT pre-test regddhat less proficient listeners
usually had problems figuring out the meaning ofmaplicit statement, while more
proficient listeners could easily grasp the imploeaning (LTTC, 1999). Similar
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findings can be observed in Nissan et al.’s (1%9&ly. They found that an item
testing implicit information was more difficult thahe one testing explicit
information. This is because test takers have tkenadogical and reasonable
inference before they can get the real meaningefrhplicit information. The
example of V15 is given below:

N Wr Y 7oA 3 A FERLE A B A3 |

L B | A 7 {p’r:k 4 R o

¥ oliEp g LA H A9

Coding instructions for VI4Code “1” if it is necessary to comprehend the

implicit statement in correctly responding to thsttitem; otherwise, Code “0".

V15: The proposition of the key is opposite to the one of any of the three distracters.
Variables 15-17 were selected based on the SC-&8darchers’ findings that
test items with two options having opposite proposs appeared to affect test takers’

strategies for choosing the answer, which indiyeatfected the item difficulty. To
test if it is the case, we included Variables 15qA@ur study. The example of V15 is

given below:
gy EHHed s nFE % Ptk ?
_a :—E,Rmﬁ\ﬂiﬂzéy% ) ,’kiq_\ﬁg,,,,gg_ggo
§ LT ERR?
(A) #E >key
(B) # % i+ —distracter
(C) ix3 =i —>distracter

(D) - B2zt 3t —>distracter
Coding instructions for VI8 ode “1” if the proposition of the key is opposite
the one of any of the three distracters; otherw@age “0”.

V16: The propositions of any two of the three distracters are opposite.

The example of V16 is given below:
7 :“l'i\‘/fkj\/A iﬁfﬂﬁ«w © ’@‘%Z‘?K)?';;ﬁf\?fi)?}%‘uﬁﬁﬁ?%

A:/J»}E’ A2 HF R L RE R QR ARI R AT |
(A) = % % Ileh —distracter
(B) :}*'-*1 3R E enfl A —>distracter
(®) ﬁ_?f] wEE ARG AL >distracter
(D) # 72 % 72 % B vz ik Dkey
Coding instructions for V18 ode “1” if the propositions of any two of the tlere
distracters are opposite; otherwise, Code “0".
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V17: The propositions of any two of the four choices are opposite.

Please see V15 and V16 for the example of V17.

Coding instructions for VITode “1” if the propositions of any two of the four
choices are opposite; otherwise, Code “0”.
Coding

Eight SC-TOP test researchers and developer<ipatid in the coding work.
There were three stages in the coding work: fanaiion stage, coding stage, and
agreement stage. At the familiarization stageatitbor explained to the researchers
the definitions of the 17 variables and the codmeghods. At the coding stage, each
researcher coded for the 35 test items independéitine agreement stage, the
coding disagreements were resolved by discussegdhtroversial items.

Dependent Variables

The difficulty indexb from IRT served as the dependent variable in theeat
study. Each test item had its owsvalue that is typically distributed from -3 to +3
and with a mean of 0 and a standard deviation Aftést item with a negative
b-value is easier than the one with a posibuwealue. For example, an item with a
b-value of +2.5 is more difficult than the item wilb-value of -2.5.
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Results and Discussion
Table 1 presents the correlation between thecdiffy indexb and the 17
variables.
Table 1Correlation of Variables with The item difficulty)(

bVl V2 V3 V4 V5 V6 V7 V8 V9 VIO VII VI2 VI3 VI4 VIS V16 V17
b -001 0.08 008 0.11-009 005 -0.12 002 012 -0.15 -0.07 -0.03 -0.31 -0.18 -516** 0.27 -0.30

Vi1 -0.11 -012 -0.02 026 -0.10 0.6 0.10 -0.05 027 .409* -0.17 032 476**  0.00 -0.19 -0.04
V2 J77% 025 011 007 004 -007 -0.10 -0.12 -0.09 0.13 -0.09 -0.12 -0.09 -0.05 -0.09
V3 672%% 005 019 011 -0.19 -0.14 -0.03 -025 0.04 -004 -033 -004 013 0.11
V4 016 0.0 017 025 -0.19 -001 -008 0.14 -0.03 -023 -0.19 0.01 -0.08
V5 0.10 .389* 0.08 0.16 032 004 0.17 000 -0.08 000 -0.26 -0.11
V6 £603*#% <030 024 013 003 -015 -020 -022 020 0.13 0.22
Vi -025 015 017 013 -019 012 -0.08 0.2 008 0.13
V8 004 017 017 015 0.00 005 0.0 -0.13 -0.03
V9 023 015 005 -005 -0.12 -0.17 0.17 0.03
V10 025 -002 005 -0.16 019 -021 0.00
Vi1 -029 0.07 .610%* 024 032 .352*%
V12 -355% -0.32 -0.21 -0.19 -0.29
V13 024 011 -0.15 0.07
V14 024 -001 0.18
V15 0.10 .748**
V16 S563F*
V17

Note.V1: Idiomatic expressions; V2: Negatives used leyftrst speaker; V 3:
Negatives used by the second speaker; V 4. Negativie total dialogue; V 5:
Complex sentences used by the first speaker; \bfglex sentences used in the
second speaker; V 7: Complex sentences used totddedialogue; V 8:
Within-clause referentials; V 9: Between-clausereftials; V 10: Inter-speaker
referentials; V 11: Rhetorical questions; V 12: @apping words; V 13:
Near-synonyms; V 14: Implicit statement; V 15: Rysgionally-opposite pair
(key-distracter); V 16: Propositionally-oppositarg@istracter-distracter); V 17:
Propositionally-opposite pair (any two choices)

*p<.05

**p <.01

As shown in Table 1, only Variable 15 was sigrifidy and negatively
correlated with the item difficulty, suggesting tifethe key is propositionally
opposite to any of the three distracters, theitest will be easier. The other 16
variables did not significantly correlate with titem difficulty. The result was
unsurprising in that the number of the test itemas vather small (only 35 items)
compared to that in Kostin's (2004) study, wher& 3®©EFL items were employed as
the materials. The small sample size may weakeast#iestical power; therefore, the
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disassociation between the 15 variables and thedi#ficulty was observed in the
present study.

Apart from the correlation analysis, the presémd also examined how much
variance in the item difficulty can be accountedldy the 17 variables. Multiple
regression (including the Enter method and thevsspmethod) was adopted to
achieve this goal. One caveat should be put forlwafdre multiple regression was
conducted; that is, Variable 15 and Variable 17enAeghly correlatedr(= .748,p < .01),
which may produce an effect called multcollineartpltcollinearity often confounds
regression analysis in such a way that any potantiavidual predictor may become
invalid. To avoid multicollinearity, we excluded Nable 17, the one that did not
correlate with the item difficulty, from our latanalysis. In the Enter method, the
difficulty index b-value served as the dependent variable, and tipeetiéctor
variables were entered as a set into the modekabyvesing the method, no
significant model was observel (16, 18) = 1.29p > .05, Adjusted R square = .115).
The Stepwise method was adopted to identify thermim number of variables that
could be used to predict the dependent variablthidhmethod, the difficulty index
b-value served as the dependent variable, and tharigbles were entered one by
one into the model, with the variable that hadstiengest correlation with the
dependent variable being entered first. Variableardd 16 were left in the final
regression equation. The result is shown in Tabl®gether, the two variables
accounted for about 33% of the variance withd@, 34) = 9.51p = .001.

Table 2Results of Stepwise Multiple Regression

B Std. Error Beta t Sig.

Constant -1.08 .26 -4.18 .00
V15 -2.22 57 -.55 -3.90 .00
V16 1.90 .81 .33 2.36 .00

Note.Multiple R= .61;R*= .37; Adjusted?’= .33; standard error of estimate = 1.34.

Although most of the variables did not correlaithvand contribute to the item
difficulty, two task-processing variables, V15 avits, did have an effect on the item
difficulty. Recall that the two variables dealt witow the choice design in terms of
opposite propositions may affect test takers’ sgi@s for choosing the answer. The
results indicated that test takers would havedéfisulty answering the question
when the key and any one of the three distracire bpposite propositions (V15),
whereas the question with any two distracters ltpopposite propositions were more
difficult to answer (V16). One possible explanatfonthe two phenomena is that test
takers might be aware that the propositionally-giegpair was very distinct from the
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other two options; therefore, they were very likidyconfine their attention only to
such a pair while ignoring the other two optiongteertain degree when choosing the
answer. Once the key is in the propositionally-ggigopair, the probability of
choosing the correct answer will be increased (VO®) the other hand, if the pair
consists of two distracters, the probability of abiag the correct answer will be
decreased (V16). This explanation is further suigabby test takers’ responses to the
items coded as V15 and V16. For example, in the o&¥ariable 15, the distracter
from a propositionally-opposite pair (key + distexg attracted more responses than
any of the other two distracters. Consider the itexabed as Variable 15 shown below:

FrLARO SBRP AR S D ENROP S By FEH T
ERAESHE - B hEREEL o

A REREAFER TF - 2 AP EAREMA kT

RGEER R VT g B A Y

(A) @ E BRI s (7) édlstracter

(B) 53 E g+ * et (23)>distracter

(C) & E_B-| § cht (72>key

(D) 5 B &t (3) Ddistracter

Note.The number in the brackets is the number of téstrsawho

selected that option.

g

The above example shows that Option B attractec memponses (i.e., 23) than
Option A (i.e., 7) or Option D (i.e., 3), revealititat test takers tended to choose the
distracter from the propositionally-opposite pak.( Consequence B) more often
than from the other two distracters. About 70%haf tems coded as Variable 15
displayed such a tendency. Similar tendency wasalserved in items coded as
Variable 16. A case of Variable 16 is given below:

g rw RS ITER A R ?

Sl - eI TR VA ok B R E B
¥ 2 5% o

§ i de gk EAR D

(A) ¥ B& D E 1 iF (10) ->distracter

(B) 4 & g tena iF (16) >key

(C) #H1ir¥ 2+ (32) ->distracter

(D) 4% % % 3|2 it (46)>distracter

Note.The number in the brackets is the number of téstrsawho
selected that option.

In this example, distracters C and D formed a psdpnally-opposite pair, and
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attracted more responses than the key and Optitirtdst takers’ attention had not
been directed to the propositionally-opposite pawould not have been easy to
observe the phenomenon shown in the above exaiitpeefore, it should be
reasonable to conclude that test takers paid nitastieon to the
propositionally-opposite pair than to the other mtions. These findings regarding
Variables 15 and 16 may provide item writers withaais for adjusting the items to
the desired difficulty level. Specifically, item k&rs can design a distracter that is
semantically opposite to the key if they want tardase the item difficulty. On the
other hand, if they would like to make an item lesydhey can produce two
distracters with opposite propositions.

This study is among the first studies that atteto@xplore the potential factors
affecting the item difficulty of short-dialogue cpnehension in the Test Of
Proficiency-Huayu. Though not as satisfying as etgub the results of the present
study at least can provide item writers with sodeas of choice design. However, the
observed relation between the item difficulty atean characteristics should be tested
in a more empirical manner, such as directly ingasing the effect of manipulating
the variables identified in the present study anitem difficulty, in order to get a
more comprehensive understanding of how thosehlaganay affect the item
difficulty. If the results of the present study damreplicated in the future empirical
study, we can use them to develop a more pradtezalwriting guideline for item
writers to refer to when creating test items.
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